
The explosion drawing for MUB-06

M10x50 hex head screw

Plate

Plate

Upper frame

2pcs of M10 screw nut Intermediate shaft

Pin

Bottom frame

1.Connect the M10 screw to the upper frame

Installation Steps:

2.Connect the intermediate shaft to the M10 screw

3.Use the anchor bolt to fix the upper frame to the ceiling

4.Fix the bottom frame to the speaker

5.Connect the upper frame and bottom frame through the pin,

and adjust the angle


